42

F10, F152 ) —X NIL7Bi{f XX EeS

WALTHAX WAL TRAE
At
10mm g R a1 7 El=Piki"

10mm 18 EEf 217

15mm §& EWH 217

AHFE-b
Fi0 : Rc1/8
F15:Rc1/8

| WAV R

T0 : 2 gt I LA FEE

Ti 1 2RV g IS LA KR  TIEET)
T2: 2 ULl AT Lo o AR M- 4T VR

HAR—+ BEHIZ

Wizt

LEAT T 52355
ARTHEL

3ii— A (NC) 5
HAFE -

3 — PSR (NO) =5
dhFE- BT T

AR RLT 02t

AB#FET 07t AAF-toRUTOIfE L AEFIO06 AF-MoBRLT R 76
‘|, I -
)1 -4 23 JI
5
HhHE—F@F -k HhH—EF HhHE—+ .
F10 : ¢4 - 6 F10 : M5x0.8 F10 : o6 F10 : M5 x0.8
F15: p6- 98 F15 : Rc1/8 Fi5: ¢8 Fi15 :Rc1/8 SeqFTSH394%
ap- pumm o | 2F7FE
HAF— b 3~ MEESH (NO) #° AR~ Tl
= SooneETmr A=t oo ||
S I HFETO T Jd:f-mm,:ru)c:ﬁas //mvmiﬁjuﬂﬁ JUTJ’ r»mawuwﬁfﬁ E
s[-PN ]
e TyE ENF— T FFORETE | EHF— T bl ke
F10: ¢4 F10: ¢4 F10: ¢6 F10 : p4 i
F15: ¢6 F15: ¢6 F15: 48 F15 : 6 f"
. 3H— EEshl (NO) |
R~ 3H— MERSEA (NC) 35 sl —h
A LLANEF IO EAF= SLIINEFETO M :
S INBETO I li‘:f’—mmbvnﬂﬁiﬁ HuLTO 7 ATyH— oL T0y 00 H

LaATT553%945
1) —F#300mm

N E— BT Hh A

HRE— AT ERF— T ]
T3: 3RV a3 70-FFEr2 F10: ¢6 F10 : 6 F10 : M5x0.8 F10 : ¢4
T4: 3KV a THJ—RA b 433 F15: ¢8 F15: 98 F15: Rc1/8 F15 : 6 [
T5: 3RV Tyl 4 2 :
. 3#— hHEFE (NC) #5
TA: 82 FL3H— b (HHEH - ) 3— hAME (NC) 25 30— hISBSBI (NO) 25 Hiha—h 5
TB: &L FL3H— b (BE5EE - HAEE) 4 HAH -k Hﬂh;—b 3 Eﬁn_)—b l*'/‘/f»iﬁiﬂv?ﬁ&ﬁ
CH LA . 4 FOwak SLONMFEIOOH  HRLTOYIA H-rBL 7O o
TC: 52 FL3H—  (HEE - Ha5E) ma 0o e %ﬁ 22 = & ﬁg- e R W2 | ssqrrs9a354
1)~ K423000mm
MEEHX WF i f
HEEA FHFs > . : £ J)
B8/ 4 0 M K ERHA— P H A A~ b HhA— BT
F10: M5X0.8 F10 : pd F10 : M5x0.8 F10: p6 3
EI ‘?} F15:Rc1/8 F15: ¢6 F15 : Ac1/8 F15: ¢8
AEE/ SOy kR _ ) 33— MBI (NO) 20 .
(EEF) HhH— REYqx IF— MR (NO)ES 3 MESEEEI (NC)®S  HiK—k Laq7 7550304
= HEMETO. M HEAE—F HAK-NOBLTOO S NBETOuOH | 1)—K483000mm
AhF—tpRUTOsrHEs SFLEFIOIE AAE-RoRUTOu S AA#-tehUTOu s
SLEEEr Oy bR ¥£tw:: ; o CIEE : 2”
() * C pg.‘ % 7 p
HHZHTT, 5 gy
B [ 5
E: :fﬁgﬁfi ue EhFE—F = R s A EhE—hE
e i | F10 : pd - 6 F10 : ¢4 F10 : M5x0.8 F10 : 6
8T -A2(A T ¥ F15: ¢6- ¢8 F15: 06 F15: Rc1/8 F15: ¢8
- A i
ELTLES L,
H TA— R
LS Oy b —
DREPTEAS
tho
v v v v v
FAFyea] [AA7atE | (st [ PaE | [ Fam ] | IOV TR | Cussgmainmst | [ Bt TE
n A 22 -FJ5A 2 -FME1 A WA
F10 A1 E2 22 . 22 .
T2 FEA Al -FM FJ5B HBﬁ 10 PN DC24V
F10L Ii - a MEA | | WEA || -A2%10 p3E -FJBAE -an,.;w mRA— -PS B
F15 Tsitd || -PEY | -RE|| FIE R 34 -FJ6B 2 -|=553.E 1o [URULEREES | -PL 10028
x4 AC100V!
F15L Ly -FJ5#2 _pg5 §4 -FMAE2 -F6AL4 -PS3 F10
TC 4 -FU67H2  .Fpi4 -FMB -F6BE 4] -PL3
L SNLTHES T, T2HH0 84, AAOHFEL /S —EalET, 6 1 APF—RHRLTOuTORLY X1, F10:M5%0.8, F15:Rc1 /8T,
2 ML TR R L2ENFER ERTVETS, 7 EERSTSICiEBY £ A,
3IETRCESEL A, 8 EEHAMTELLTFTLIR—FRICIESHWELA,
4 HENAOy MBS SUERRESNE A, 9 : HEHSOEEEMELUKDBAICH T IBREEEAIDIPESEEEETT.
5 1 POV EEETO, T, T2 MO &35 L E T, 10 URRHENATT,

KOGRANEI



